#### Bid #Z2114075B1 - FLL Pressure Washing Services

Creation Date Mar 13, 2017 End Date Apr 19, 2017 2:00:00 PM EDT

Start Date Mar 29, 2017 2:56:49 PM EDT Awarded Date Not Yet Awarded

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Kita Corp.	First Offer - \$150.00	104 / bi-weekly	\$15,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lightning Commercial Cleaning Service LLC.	First Offer - \$320.00	104 / bi-weekly	\$33,280.00	Υ	Υ
Product Code:		Supplier Product Code	):		•
Agency Notes:		Supplier Notes:			
YJ&R Landscaping	First Offer - \$370.00	104 / bi-weekly	\$38,480.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Imex Innovative co [Ad]	First Offer - \$390.00	104 / bi-weekly	\$40,560.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Mr Clean Bin Cleaner	First Offer - \$437.92	104 / bi-weekly	\$45,543.68		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Evergreen Cleaning Service	First Offer - \$450.00	104 / bi-weekly	\$46,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Allcare Financial Management Services, Inc.	First Offer - \$569.30	104 / bi-weekly	\$59,207.20	Υ	Υ
Agency Notes:		Supplier Product Code Supplier Notes: Please this proposal.		ments pert	aining to
Bel Air Maintenance, Inc.	First Offer - \$635.45	104 / bi-weekly	\$66,086.80	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Seminole Commercial Cleaning	First Offer - \$639.00	104 / bi-weekly	\$66,456.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Fleetwash Inc [Ad]	First Offer - \$702.90	104 / bi-weekly	\$73,101.60	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Pressure me clean services Inc.	First Offer - \$710.00	104 / bi-weekly	\$73,840.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: pressur degreaser also removing gu mold killer to prolong its cle	e clean entire surfac um. once clean spra	ce using ho	
TRASHCO	First Offer - \$710.00	104 / bi-weekly	\$73,840.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
King of pressure, Inc. [Ad]	First Offer - \$710.00	104 / bi-weekly	\$73,840.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: 35,500 sq ft X .02 a square f			

Sunshine Cleaning Systems Inc.	First Offer - \$798.75	104 / bi-weekly	\$83,070.00	Y		
		Supplier Product Code: Supplier Notes:				
Green Earth Powerwashing	First Offer - \$1,200.00	104 / bi-weekly	\$124,800.00	Y		
		Supplier Product Code: Supplier Notes:				
ADIN ASISTENCIA DOMICILIARIA [Ad]	First Offer - \$3,087.00	104 / bi-weekly	\$321,048.00	Y		
Product Code: Agency Notes:		Supplier Product Code: Z2114075B1-01-01 Supplier Notes: Price is multiplied by the value of the foot by the number of square feet				

<b>Z2114075B101-</b> 02 Lower Level Termin	nal 2 Sidewalks	1			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Kita Corp.	First Offer - \$101.00	104 / bi-weekly	\$10,504.00		Υ
Product Code:		Supplier Product Co	de:		
Agency Notes:	=	Supplier Notes:	*** *** 1		
Lightning Commercial Cleaning Service LLC.	First Offer - \$320.00	104 / bi-weekly	\$33,280.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
YJ&R Landscaping	First Offer - \$370.00	104 / bi-weekly	\$38,480.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Imex Innovative co [Ad]	First Offer - \$380.00	104 / bi-weekly	\$39,520.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Mr Clean Bin Cleaner	First Offer - \$437.92	104 / bi-weekly	\$45,543.68		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Evergreen Cleaning Service	First Offer - \$450.00	104 / bi-weekly	\$46,800.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Bel Air Maintenance, Inc.	First Offer - \$529.84	104 / bi-weekly	\$55,103.36	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Seminole Commercial Cleaning	First Offer - \$532.80	104 / bi-weekly	\$55,411.20		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Allcare Financial Management Services, Inc.	First Offer - \$569.30	104 / bi-weekly	\$59,207.20		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Fleetwash Inc [Ad]	First Offer - \$586.08	104 / bi-weekly	\$60,952.32		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Pressure me clean services Inc.	First Offer - \$592.00	104 / bi-weekly	\$61,568.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: pressure clean entire sur removing gum. once cle prolong its cleanliness.	rface using hot water &	•	
TRASHCO	First Offer - \$592.00	104 / bi-weekly	\$61,568.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

King of pressure, Inc. [Ad]	First Offer - \$592.00	104 / bi-weekly	\$61,568.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 29,600 sq ft X .02 =	ode:		
Sunshine Cleaning Systems Inc.	First Offer - \$666.00	104 / bi-weekly	\$69,264.00	Y	
		Supplier Product Code: Supplier Notes:			
Green Earth Powerwashing	First Offer - \$950.00	104 / bi-weekly	\$98,800.00	Υ	
		Supplier Product Code: Supplier Notes:			
Agency Notes:		• •			
	First Offer - \$2,575.00	• •	\$267,800.00	Y	

<b>Z2114075B101-</b> 03 Lower Level Termi	nal 3 Sidewalks				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Kita Corp.	First Offer - \$111.00	104 / bi-weekly	\$11,544.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Lightning Commercial Cleaning Service LLC.	First Offer - \$320.00	104 / bi-weekly	\$33,280.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	11	Supplier Notes:			
YJ&R Landscaping	First Offer - \$370.00	104 / bi-weekly	\$38,480.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			I
Imex Innovative co [Ad]	First Offer - \$380.00	104 / bi-weekly	\$39,520.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes: TRASHCO	First Offer - \$432.00	Supplier Notes:	\$44.928.00		Υ
	First Offer - \$432.00	104 / bi-weekly	\$44,928.00		T
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Mr Clean Bin Cleaner	First Offer - \$437.00	104 / bi-weekly	\$45,448.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Evergreen Cleaning Service	First Offer - \$450.00	104 / bi-weekly	\$46,800.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Bel Air Maintenance, Inc.	First Offer - \$515.52	104 / bi-weekly	\$53,614.08	Υ	Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Seminole Commercial Cleaning	First Offer - \$518.40	104 / bi-weekly	\$53,913.60		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Allcare Financial Management Services, Inc.	First Offer - \$569.30	104 / bi-weekly	\$59,207.20		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Fleetwash Inc [Ad]	First Offer - \$570.24	104 / bi-weekly	\$59,304.96		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Pressure me clean services Inc.	First Offer - \$576.00	104 / bi-weekly	\$59,904.00		Υ

Agency Notes:		Supplier Product Code: Supplier Notes: pressure clean entire surface using hot water 8 degreaser also removing gum. once clean spray surface with a mold killer to prolong its cleanliness.			
King of pressure, Inc. [Ad]	First Offer - \$576.00	104 / bi-weekly	\$59,904.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 28,800 sq ft X .02 = 576	ode:		
Sunshine Cleaning Systems Inc.	First Offer - \$648.00	104 / bi-weekly	\$67,392.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Green Earth Powerwashing	First Offer - \$950.00	104 / bi-weekly	\$98,800.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ADIN ASISTENCIA DOMICILIARIA [Ad]	First Offer - \$2,507.00	104 / bi-weekly	\$260,728.00	Y	
Product Code: Agency Notes:		Supplier Notes:	ode: Z2114075B101-03	umber of	

Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Offer - \$100.00	104 / bi-weekly	\$10,400.00		Υ
	Supplier Product Code: Supplier Notes:			
First Offer - \$320.00	104 / bi-weekly	\$33,280.00		Υ
	Supplier Product Code Supplier Notes:	э:		
First Offer - \$370.00	104 / bi-weekly	\$38,480.00		Υ
	Supplier Product Code Supplier Notes:	ə:		
First Offer - \$380.00	104 / bi-weekly	\$39,520.00		Υ
	Supplier Product Code: Supplier Notes:			
First Offer - \$383.06	104 / bi-weekly	\$39,838.24	Υ	Υ
	Supplier Product Code: Supplier Notes:			
First Offer - \$385.20	104 / bi-weekly	\$40,060.80		Υ
	Supplier Product Code Supplier Notes:	e:		
First Offer - \$423.72	104 / bi-weekly	\$44,066.88		Υ
	Supplier Product Code: Supplier Notes:			
First Offer - \$428.00	104 / bi-weekly	\$44,512.00		Υ
	Supplier Product Code: Supplier Notes: pressure clean entire surface using hot wate degreaser also removing gum. once clean spray surface with a mold killer to prolong its cleanliness.			
	First Offer - \$100.00  First Offer - \$320.00  First Offer - \$370.00  First Offer - \$380.00  First Offer - \$383.06  First Offer - \$385.20  First Offer - \$423.72	First Offer - \$100.00 104 / bi-weekly  Supplier Product Code Supplier Notes:  First Offer - \$320.00 104 / bi-weekly  Supplier Product Code Supplier Notes:  First Offer - \$370.00 104 / bi-weekly  Supplier Product Code Supplier Notes:  First Offer - \$380.00 104 / bi-weekly  Supplier Product Code Supplier Notes:  First Offer - \$383.06 104 / bi-weekly  Supplier Product Code Supplier Notes:  First Offer - \$385.20 104 / bi-weekly  Supplier Product Code Supplier Notes:  First Offer - \$423.72 104 / bi-weekly  Supplier Product Code Supplier Notes:  First Offer - \$428.00 104 / bi-weekly  Supplier Product Code Supplier Notes:  First Offer - \$428.00 104 / bi-weekly  Supplier Product Code Supplier Notes:  First Offer - \$428.00 104 / bi-weekly  Supplier Product Code Supplier Notes:  First Offer - \$428.00 104 / bi-weekly	First Offer - \$100.00	First Offer - \$100.00

TRASHCO	First Offer - \$428.00	104 / bi-weekly	\$44,512.00	Υ
		Supplier Product Code: Supplier Notes:		
King of pressure, Inc. [Ad]	First Offer - \$428.00	104 / bi-weekly	\$44,512.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes: 21,400 sq ft X .02 = 428.		
Mr Clean Bin Cleaner	First Offer - \$437.92	104 / bi-weekly	\$45,543.68	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Evergreen Cleaning Service	First Offer - \$450.00	104 / bi-weekly	\$46,800.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Sunshine Cleaning Systems Inc.	First Offer - \$481.50	104 / bi-weekly	\$50,076.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Allcare Financial Management Services, Inc.	First Offer - \$569.30	104 / bi-weekly	\$59,207.20	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Green Earth Powerwashing	First Offer - \$845.30	104 / bi-weekly	\$87,911.20	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
ADIN ASISTENCIA DOMICILIARIA [Ad]	First Offer - \$1,861.00	104 / bi-weekly	\$193,544.00	Υ
Product Code: Agency Notes:		Supplier Notes:	ode: Z2114075B101-04 he value of the foot by the nu	mber of

<b>Z2114075B101-</b> 05 Pedestrian Bridges (4) Walkways							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Seminole Commercial Cleaning	First Offer - \$30.60	12 / month	\$367.20		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Fleetwash Inc [Ad]	First Offer - \$33.66	12 / month	\$403.92		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Sunshine Cleaning Systems Inc.	First Offer - \$38.25	12 / month	\$459.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Green Earth Powerwashing	First Offer - \$67.15	12 / month	\$805.80		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
King of pressure, Inc. [Ad]	First Offer - \$68.00	12 / month	\$816.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 1700 sq ft X .04 =	ode:				
Imex Innovative co [Ad]	First Offer - \$73.00	12 / month	\$876.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Evergreen Cleaning Service	First Offer - \$100.00	12 / month	\$1,200.00		Υ		

	,				
		Supplier Product Code: Supplier Notes:			
Bel Air Maintenance, Inc.	First Offer - \$110.00	12 / month	\$1,320.00	Y	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	. ,		
YJ&R Landscaping	First Offer - \$110.50	12 / month	\$1,326.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:			-
Mr Clean Bin Cleaner	First Offer - \$149.24	12 / month	\$1,790.88		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Kita Corp.	First Offer - \$170.00	12 / month	\$2,040.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Pressure me clean services Inc.	First Offer - \$200.00	12 / month	\$2,400.00		Υ
Agency Notes:			ssure clean entire surfac ng gum. once clean spra is cleanliness.	-	
TRASHCO	First Offer - \$250.00	12 / month	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Lightning Commercial Cleaning Service LLC.	First Offer - \$400.00	12 / month	\$4,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Allcare Financial Management Services, Inc.	First Offer - \$776.05	12 / month	\$9,312.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ADIN ASISTENCIA DOMICILIARIA [Ad]	First Offer - \$1,000.00	12 / month	\$12,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Z2114075B101-05 Supplier Notes: Price is multiplied by the value of the foot by the numb square feet			er of
Dixon's Enterprise LLC	First Offer - \$2,720.00	12 / month	\$32,640.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode: 075-19		

<b>Z2114075B101-</b> 06 Upper Level Termin	al 1 Sidewalks				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Kita Corp.	First Offer - \$106.00	104 / bi-weekly	\$11,024.00		Υ
		Supplier Product Code: Supplier Notes:			
YJ&R Landscaping	First Offer - \$265.00	104 / bi-weekly	\$27,560.00		Υ
		Supplier Product Code: Supplier Notes:			
Mr Clean Bin Cleaner	First Offer - \$306.50	104 / bi-weekly	\$31,876.00		Υ
		Supplier Product Code: Supplier Notes:			
Lightning Commercial Cleaning Service LLC.	First Offer - \$320.00	104 / bi-weekly	\$33,280.00		Υ
		Supplier Product Code: Supplier Notes:			
Bel Air Maintenance, Inc.	First Offer - \$368.74	104 / bi-weekly	\$38,348.96		Υ

Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Seminole Commercial Cleaning	First Offer - \$370.80	104 / bi-weekly	\$38,563.20	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Imex Innovative co [Ad]	First Offer - \$395.00	104 / bi-weekly	\$41,080.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Allcare Financial Management Services, Inc.	First Offer - \$398.45	104 / bi-weekly	\$41,438.80	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Fleetwash Inc [Ad]	First Offer - \$407.88	104 / bi-weekly	\$42,419.52	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Pressure me clean services Inc.	First Offer - \$412.00	104 / bi-weekly	\$42,848.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
TRASHCO	First Offer - \$412.00	104 / bi-weekly	\$42,848.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
King of pressure, Inc. [Ad]	First Offer - \$412.00	104 / bi-weekly	\$42,848.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes: 20,600 sq ft X .02= 412.0		
Evergreen Cleaning Service	First Offer - \$450.00	104 / bi-weekly	\$46,800.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Sunshine Cleaning Systems Inc.	First Offer - \$463.50	104 / bi-weekly	\$48,204.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Green Earth Powerwashing	First Offer - \$803.70	104 / bi-weekly	\$83,584.80	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
ADIN ASISTENCIA DOMICILIARIA [Ad]	First Offer - \$1,792.00	104 / bi-weekly	\$186,368.00	Υ
Product Code: Agency Notes:		Supplier Notes:	ode: Z2114075B101-06 he value of the foot by the nur	nber of

Z2114075B101-07 Upper Level Terminal 2 Sidewalks						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Kita Corp.	First Offer - \$107.00	104 / bi-weekly	\$11,128.00		Υ	
		Supplier Product Code: Supplier Notes:				
YJ&R Landscaping	First Offer - \$265.00	104 / bi-weekly	\$27,560.00		Υ	
		Supplier Product Code: Supplier Notes:				
Mr Clean Bin Cleaner	First Offer - \$306.50	104 / bi-weekly	\$31,876.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lightning Commercial Cleaning Service LLC.	First Offer - \$320.00	104 / bi-weekly	\$33,280.00		Υ	
		Supplier Product Code: Supplier Notes:				
Bel Air Maintenance, Inc.	First Offer - \$353.53	104 / bi-weekly	\$36,767.12		Υ	
Product Code:		Supplier Product C	ode:			

	,			
Agency Notes:		Supplier Notes:		
Seminole Commercial Cleaning	First Offer - \$355.50	104 / bi-weekly	\$36,972.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
lmex Innovative co [Ad]	First Offer - \$380.00	104 / bi-weekly	\$39,520.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Fleetwash Inc [Ad]	First Offer - \$391.05	104 / bi-weekly	\$40,669.20	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		1
TRASHCO	First Offer - \$395.00	104 / bi-weekly	\$41,080.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		<u> </u>
King of pressure, Inc. [Ad]	First Offer - \$395.00	104 / bi-weekly	\$41,080.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 19,750 sq ft X .02= 395.0		
Allcare Financial Management Services, Inc.	First Offer - \$398.45	104 / bi-weekly	\$41,438.80	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Pressure me clean services Inc.	First Offer - \$400.00	104 / bi-weekly	\$41,600.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	·
Sunshine Cleaning Systems Inc.	First Offer - \$444.38	104 / bi-weekly	\$46,215.52	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Evergreen Cleaning Service	First Offer - \$450.00	104 / bi-weekly	\$46,800.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Green Earth Powerwashing	First Offer - \$780.13	104 / bi-weekly	\$81,133.52	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	·
ADIN ASISTENCIA DOMICILIARIA [Ad]	First Offer - \$1,718.00	104 / bi-weekly	\$178,672.00	Υ
Product Code: Agency Notes:		Supplier Notes:	ode: Z2114075B101-07 he value of the foot by the nu	ımber of

<b>Z2114075B101-</b> 08 Upper Level Termi	nal 3 Sidewalks				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Kita Corp.	First Offer - \$108.00	104 / bi-weekly	\$11,232.00		Υ
		Supplier Product Code: Supplier Notes:			
YJ&R Landscaping	First Offer - \$265.00	104 / bi-weekly	\$27,560.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Mr Clean Bin Cleaner	First Offer - \$306.50	104 / bi-weekly	\$31,876.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lightning Commercial Cleaning Service LLC.	First Offer - \$320.00	104 / bi-weekly	\$33,280.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Bel Air Maintenance, Inc.	First Offer - \$372.32	104 / bi-weekly	\$38,721.28		Υ
Product Code:		Supplier Product C	ode:		

Agency Notes:		Supplier Notes:			
Seminole Commercial Cleaning	First Offer - \$374.40	104 / bi-weekly	\$38,937.60	Υ	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Imex Innovative co [Ad]	First Offer - \$380.00	104 / bi-weekly	\$39,520.00	Υ	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Allcare Financial Management Services, Inc.	First Offer - \$398.45	104 / bi-weekly	\$41,438.80	Υ	
Product Code:		Supplier Product Co	ode:		
Agency Notes:	11	Supplier Notes:			
Fleetwash Inc [Ad]	First Offer - \$411.84	104 / bi-weekly	\$42,831.36	Y	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:	440.004.00	1 ,	
Pressure me clean services Inc.	First Offer - \$416.00	104 / bi-weekly	\$43,264.00	Υ	
Product Code:		Supplier Product Co	ode:		
Agency Notes:	F: . O	Supplier Notes:	<b>\$40,004,00</b>		
TRASHCO	First Offer - \$416.00	104 / bi-weekly	\$43,264.00	Y	
Product Code:		Supplier Product Co	ode:		
Agency Notes:	First Offer - \$416.00	Supplier Notes: 104 / bi-weekly	\$43.264.00	Y	
King of pressure, Inc. [Ad]  Product Code:	First Offer - \$410.00	,	, ,, , , ,	1	
Agency Notes:		Supplier Product Code: Supplier Notes:			
A species of the spec		20,800 sq ft X .02= 416.0	0		
Evergreen Cleaning Service	First Offer - \$450.00	104 / bi-weekly	\$46,800.00	Υ	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Sunshine Cleaning Systems Inc.	First Offer - \$468.00	104 / bi-weekly	\$48,672.00	Υ	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Green Earth Powerwashing	First Offer - \$821.60	104 / bi-weekly	\$85,446.40	Υ	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
ADIN ASISTENCIA DOMICILIARIA [Ad]	First Offer - \$1,809.00	104 / bi-weekly	\$188,136.00	Υ	
Product Code:			ode: Z2114075B101-08		
Agency Notes:		Supplier Notes:			
			ne value of the foot by the nur	nber of	
		square feet			

<b>Z2114075B101-</b> 09 Upper Level Terminal 4 Sidewalks						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Kita Corp.	First Offer - \$105.00	104 / bi-weekly	\$10,920.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
YJ&R Landscaping	First Offer - \$265.00	104 / bi-weekly	\$27,560.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Mr Clean Bin Cleaner	First Offer - \$306.50	104 / bi-weekly	\$31,876.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Lightning Commercial Cleaning Service LLC.	First Offer - \$320.00	104 / bi-weekly	\$33,280.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Bel Air Maintenance, Inc.	First Offer - \$349.95	104 / bi-weekly	\$36,394.80		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

1		1		
Seminole Commercial Cleaning	First Offer - \$351.90	104 / bi-weekly	\$36,597.60	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Imex Innovative co [Ad]	First Offer - \$380.00	104 / bi-weekly	\$39,520.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:	1.1	Supplier Notes:		
Fleetwash Inc [Ad]	First Offer - \$387.09	104 / bi-weekly	\$40,257.36	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
TRASHCO	First Offer - \$391.00	104 / bi-weekly	\$40,664.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
King of pressure, Inc. [Ad]	First Offer - \$391.00	104 / bi-weekly	\$40,664.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: 19,550 sq ft X .02 = 391.		
Allcare Financial Management Services, Inc.	First Offer - \$398.45	104 / bi-weekly	\$41,438.80	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Pressure me clean services Inc.	First Offer - \$400.00	104 / bi-weekly	\$41,600.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Sunshine Cleaning Systems Inc.	First Offer - \$439.88	104 / bi-weekly	\$45,747.52	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	·
Evergreen Cleaning Service	First Offer - \$450.00	104 / bi-weekly	\$46,800.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Green Earth Powerwashing	First Offer - \$772.23	104 / bi-weekly	\$80,311.92	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
ADIN ASISTENCIA DOMICILIARIA [Ad]	First Offer - \$1,700.00	104 / bi-weekly	\$176,800.00	Υ
Product Code: Agency Notes:		Supplier Notes:	ode: Z2114075B101-09 he value of the foot by the nu	mber of

<b>Z2114075B101-</b> 10 Rental Car Center S	Sidowalks				
		Ohre/Ulmih	Total Drice	Assah	D
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Kita Corp.	First Offer - \$165.00	104 / bi-weekly	\$17,160.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
YJ&R Landscaping	First Offer - \$203.75	104 / bi-weekly	\$21,190.00		Υ
Product Code:	Supplier Product C	ode:			
Agency Notes:		Supplier Notes:			
Mr Clean Bin Cleaner	First Offer - \$247.63	104 / bi-weekly	\$25,753.52		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Bel Air Maintenance, Inc.	First Offer - \$259.17	104 / bi-weekly	\$26,953.68		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Seminole Commercial Cleaning	First Offer - \$293.40	104 / bi-weekly	\$30,513.60		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Lightning Commercial Cleaning Service LLC.	First Offer - \$320.00	104 / bi-weekly	\$33,280.00		Υ

	1 1	t e e		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	•
Allcare Financial Management Services, Inc.	First Offer - \$321.92	104 / bi-weekly	\$33,479.68	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Fleetwash Inc [Ad]	First Offer - \$322.74	104 / bi-weekly	\$33,564.96	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Pressure me clean services Inc.	First Offer - \$326.00	104 / bi-weekly	\$33,904.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	·
TRASHCO	First Offer - \$326.00	104 / bi-weekly	\$33,904.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
King of pressure, Inc. [Ad]	First Offer - \$326.00	104 / bi-weekly	\$33,904.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes: 16,300 sq ft X .02 = 326.		
Sunshine Cleaning Systems Inc.	First Offer - \$366.75	104 / bi-weekly	\$38,142.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Imex Innovative co [Ad]	First Offer - \$380.00	104 / bi-weekly	\$39,520.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Evergreen Cleaning Service	First Offer - \$450.00	104 / bi-weekly	\$46,800.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Green Earth Powerwashing	First Offer - \$643.85	104 / bi-weekly	\$66,960.40	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Dixon's Enterprise LLC	First Offer - \$1,200.00	104 / bi-weekly	\$124,800.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode: 075-19	
ADIN ASISTENCIA DOMICILIARIA [Ad]	First Offer - \$1,418.00	104 / bi-weekly	\$147,472.00	Υ
Product Code: Agency Notes:		Supplier Notes:	ode: Z2114075B101-10	mber of

Z2114075B101-11 Ground Surfaces (Additional Services)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Evergreen Cleaning Service	First Offer - \$0.01	1500000 / square foot	\$15,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Fleetwash Inc [Ad]	First Offer - \$0.0198	1500000 / square foot	\$29,700.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Pressure me clean services Inc.	First Offer - \$0.02	1500000 / square foot	\$30,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: pressure clean entire surface using hot water & degreaser also removing gum. once clean spray surface with a mo killer to prolong its cleanliness.			
YJ&R Landscaping	First Offer - \$0.02	1500000 / square foot	\$30,000.00		Υ
Product Code:		Supplier Product Co	ode:		

Agency Notes:		Supplier Notes:		
TRASHCO	First Offer - \$0.02	1500000 / square foot	\$30,000.00	Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
King of pressure, Inc. [Ad]	First Offer - \$0.02	1500000 / square foot	\$30,000.00	Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
Seminole Commercial Cleaning	First Offer - \$0.02	1500000 / square foot	\$30,000.00	Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
Sunshine Cleaning Systems Inc.	First Offer - \$0.0225	1500000 / square foot	\$33,750.00	Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
Bel Air Maintenance, Inc.	First Offer - \$0.039	1500000 / square foot	\$58,500.00	Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	de:	
Green Earth Powerwashing	First Offer - \$0.0395	1500000 / square foot	\$59,250.00	Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	de:	
Mr Clean Bin Cleaner	First Offer - \$0.04	1500000 / square foot	\$60,000.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	de:	
Imex Innovative co [Ad]	First Offer - \$0.043	1500000 / square foot	\$64,500.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	de: 	
Lightning Commercial Cleaning Service LLC.	First Offer - \$0.0475	1500000 / square foot	\$71,250.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	de:	
ADIN ASISTENCIA DOMICILIARIA [Ad]	First Offer - \$0.087	1500000 / square foot	\$130,500.00	Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes: Price is multiplied by the feet	de: Z2114075B101-11 e value of the foot by the nur	nber of square
Kita Corp.	First Offer - \$0.09	1500000 / square foot	\$135,000.00	Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
Allcare Financial Management Services, Inc.	First Offer - \$0.15	1500000 / square foot	\$225,000.00	Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	

Z2114075B101-12 Knee Walls (Additional Services)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Evergreen Cleaning Service	First Offer - \$0.01	300000 / linear foot	\$3,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
TRASHCO	First Offer - \$0.015	300000 / linear foot	\$4,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Fleetwash Inc [Ad]	First Offer - \$0.0198	300000 / linear foot	\$5,940.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
King of pressure, Inc. [Ad]	First Offer - \$0.02	300000 / linear foot	\$6,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Seminole Commercial Cleaning	First Offer - \$0.02	300000 / linear foot	\$6,000.00		Υ	
Product Code:		Supplier Product Co	ode:			

Agency Notes:		Cumplior Natas			
Agency Notes:	T =: . Of	Supplier Notes:	#0.000.00		
Mr Clean Bin Cleaner	First Offer - \$0.03	300000 / linear foot	\$9,000.00	Y	
		Supplier Product Code: Supplier Notes:			
Pressure me clean services Inc.	First Offer - \$0.03	300000 / linear foot	\$9,000.00	Y	
Product Code: Agency Notes:		• •	sure clean entire surface using g gum. once clean spray surfa	•	
Green Earth Powerwashing	First Offer - \$0.035	300000 / linear foot	\$10,500.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Imex Innovative co [Ad]	First Offer - \$0.043	300000 / linear foot	\$12,900.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Sunshine Cleaning Systems Inc.	First Offer - \$0.05	300000 / linear foot	\$15,000.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	·	
YJ&R Landscaping	First Offer - \$0.07	300000 / linear foot	\$21,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lightning Commercial Cleaning Service LLC.	First Offer - \$0.08	300000 / linear foot	\$24,000.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
ADIN ASISTENCIA DOMICILIARIA [Ad]	First Offer - \$0.087	300000 / linear foot	\$26,100.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Z2114075B101-12 Supplier Notes: Price is multiplied by the value of the foot by the number of squafeet			
Kita Corp.	First Offer - \$0.09	300000 / linear foot	\$27,000.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Bel Air Maintenance, Inc.	First Offer - \$0.119	300000 / linear foot	\$35,700.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Allcare Financial Management Services, Inc.	First Offer - \$0.15	300000 / linear foot	\$45,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Dixon's Enterprise LLC	First Offer - \$0.40	300000 / linear foot	\$120,000.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode: 075-19		

<b>Z2114075B101-</b> 13 Vertical Surfaces Up to 30 Feet High (Additional Services)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Evergreen Cleaning Service	First Offer - \$0.01	1750000 / square foot	\$17,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
TRASHCO	First Offer - \$0.02	1750000 / square foot	\$35,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
King of pressure, Inc. [Ad]	First Offer - \$0.02	1750000 / square foot	\$35,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Mr Clean Bin Cleaner	First Offer - \$0.04	1750000 / square foot	\$70,000.00		Υ
Product Code:		Supplier Product Co	ode:		

Agency Notes:	,	Supplier Notes:		
Pressure me clean services Inc.	First Offer - \$0.04	1750000 / square foot	\$70,000.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: pressure clean entire surface using hot water & degreaser also removing gum. once clean spray surface with a mol killer to prolong its cleanliness.		
Seminole Commercial Cleaning	First Offer - \$0.04	1750000 / square foot	\$70,000.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	·
Imex Innovative co [Ad]	First Offer - \$0.043	1750000 / square foot	\$75,250.00	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
Lightning Commercial Cleaning Service LLC.	First Offer - \$0.0475	1750000 / square foot	\$83,125.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Sunshine Cleaning Systems Inc.	First Offer - \$0.05	1750000 / square foot	\$87,500.00	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
ADIN ASISTENCIA DOMICILIARIA [Ad]	First Offer - \$0.087	1750000 / square foot	\$152,250.00	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Price is multiplied by the v feet		nber of square
Fleetwash Inc [Ad]	First Offer - \$0.10	1750000 / square foot	\$175,000.00	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
Kita Corp.	First Offer - \$0.10	1750000 / square foot	\$175,000.00	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
YJ&R Landscaping	First Offer - \$0.22	1750000 / square foot	\$385,000.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
Bel Air Maintenance, Inc.	First Offer - \$0.239	1750000 / square foot	\$418,250.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
Allcare Financial Management Services, Inc.	First Offer - \$0.25	1750000 / square foot	\$437,500.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
Green Earth Powerwashing	First Offer - \$0.35	1750000 / square foot	\$612,500.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	

#### **Supplier Totals**

f Kita Corp.		\$448,552.00 (13/13 items)	
Bid Contact	Pierre Prime kitacorp8@gmail.com Ph 754-273-5498	Address 3101 nw 171 terr Miami gardens, FL 33056	
Qualifications	DBE MBE SB WBE		
Agency Note	s:	Supplier Notes:	Head Attch:
f Evergreen	Cleaning Service	\$457,900.00 (13/13 items)	

**Bid Contact** Octavia Mills Address 5430 Flagler Street evergreencleaningservice@hotmail.com Hollywood, FL 33021 Ph 954-559-6385 Qualifications CBE SB SBE Head Agency Notes: **Supplier Notes:** Attch: f Mr Clean Bin Cleaner \$476,127.44 (13/13 items) Bid Contact Mimi Rodriguez Address 551 NE 5th Street mrcleanbincleaner@gmail.com POMPANO BEACH, FL 33060 Ph 800-914-0398 Fax 954-301-3825 Qualifications DBE MBE SB WBE Agency Notes: Supplier Notes: Head Attch: f Lightning Commercial Cleaning Service LLC. \$482,695.00 (13/13)items) **Bid Contact** Randolph Wallace Address 8309 Fairway Road lightningcommercialcleaningsvc@gmail.com Sunrise, FL 33351 Ph 954-915-4814 Qualifications SB Agency Notes: Supplier Notes: Head Attch: ıŪ f TRASHCO \$499,108.00 (13/13 items) Bid Contact John Wyche Address 21113 Johnson Street jwyche@trashco.org Suite 118 **Ph 754-200-**1925 Pembroke Pines, FL 33029 Fax 305-675-3315 Qualifications CBE DBE MBE SB SBE Agency Notes: **Supplier Notes:** Head Attch: f Seminole Commercial Cleaning \$503,792.80 (13/13 items) **Bid Contact** John Darcy Address 6300 Sterling Road HOLLYWOOD, FL 33024 john@darcy.biz Ph 480-748-6296 Qualifications MBE SB WBE Agency Notes: **Supplier Notes:** Head Attch: f Imex Innovative co [Ad] \$511,806.00 (13/13 items) **Bid Contact** Jose G Jaramillo Address 5811 sw 88 st imexinnovativeco@gmail.com 33156 Ph 786-274-0654 miami, FL 33156 Fax 786-232-4463 Qualifications SB Head Attch: Agency Notes: Supplier Notes:

County	Commissioners		
		<b>O</b>	
f King of pressure, Inc. [Ad]	\$513,400.00 (13/13 item	ns)	
Bid Contact Kevin Ramdial kevin@kingofpressure.com Ph 800-289-0170 Fax 954-438-3568	Address 1866 NW 139 Ave Pembroke pines, FL 33028		
Supplier Code VC0000039089			
Qualifications CBE SBE			
Bid Notes Price is base on sq ft.			
Agency Notes:	Supplier Notes: Price is base on sq ft.	Head Attch:	
f Pressure me clean services Inc.	\$554,440.00 (13/13 items	)	
Bid Contact  Nathalia Alvarez  Pressuremeclean@hotmail.com  Ph 305-748-7619	Address 10137 camelback lane boca raton, FL 33498		
Qualifications MBE WBE  Agency Notes:	Supplier Notes:	Head	
Agency Notes.	Зиррнег Notes.	Attch:	
f Sunshine Cleaning Systems Inc.	\$633,492.04 (13/13 items	)	
Bid Contact Mark Klien	Address 3445 NE 12th Terrace		
mark@sunclean.com Ph 954-772-0884	Ft. Lauderdale, FL 33334		
Agency Notes:	Supplier Notes:	Head Attch:	
f Fleetwash Inc [Ad]	\$648,212.08 (13/13 items)		
Bid Contact Philip DeStefano fleetwashpvd@hotmail.com Ph 973-390-2009	Address 273 Passiac Ave Fairfiled, NJ 07004		
Agency Notes:		Head Attch:	
f YJ&R Landscaping	\$722,676.00 (13/13 items)		
Bid Contact Rajendra Bharat rajbharat1@att.net Ph 954-854-7593	Address 9430 S.W 18 ST Miramar, FL 33025		
Qualifications CBE SB SBE			
Agency Notes:	Supplier Notes:	Head Attch	
f Bel Air Maintenance, Inc.	\$905,598.32 (13/13 items)		
Bid Contact Tarim Sas-Phillips tarim@belair-bam.com Ph 954-749-2429	Address Po Box 266284 Weston, FL 33326		
Agency Notes:	• • • • • • • • • • • • • • • • • • • •	Head Attch:	
f Allcare Financial Management Services, Inc.	\$1,152,876.28 (13/13 items)		
The state of the s	Ψ1,132,070.20 (13/13	itellis)	

allcarefinancialmanagementllc@gmail.com Suite 207 Ph 305-509-8041 Miami Gardens, FL 33169 Fax 786-261-0510 Qualifications DBE MBE SB WBE **Supplier Notes:** Head Agency Notes: Attch: f Green Earth Powerwashing \$1,490,804.04 (13/13 items) Bid Contact Kenneth Bolsch Address 1422 kgb@greenearthpowerwash.com Old Okeechobee **Ph 561-573-**9092 West Palm Beach, FL 33401 Fax 561-573-9092 **Supplier Notes:** Head Agency Notes: Attch: f ADIN ASISTENCIA DOMICILIARIA [Ad] \$2,241,418.00 (13/13 items) **Bid Contact** Address 10431 nw 28 st e-106 asistencia domiciliaria i adin customerservice@adin-usa.com doral, FL 33172 **Ph 786-332-**4745 Fax 786-332-4745 Qualifications MBE SB Price is multiplied by the value of the foot by the number of square feet Bid Notes Agency Notes: **Supplier Notes:** Head Price is multiplied by the value of the foot by the Attch: (II) number of square feet Dixon's Enterprise LLC \$277,440.00 (3/13 items) Bid Contact Donavan Dixon Address MIAMI, FL 33169 Crownswork15@gmail.com Ph 305-724-1439 Agency Notes: **Supplier Notes:**